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TRƯỜNG ĐẠI HỌC VĂN LANG 

ĐƠN VỊ: KHOA NGOẠI NGỮ 

 

ĐỀ THI VÀ ĐÁP ÁN 

THI KẾT THÚC HỌC PHẦN 

Học kỳ 1, năm học 2024-2025 

 

I. Thông tin chung 

Tên học phần:  Semantics 

Mã học phần:  71ENGL40512 Số tín chỉ: 2 

Mã nhóm lớp học phần:  241_71ENGL40512_01, 02, 11, 12 

Hình thức thi: Trắc nghiệm kết hợp Tự luận Thời gian làm bài:  75 phút 

Thí sinh được tham khảo tài liệu: ☐ Có ☒ Không 

 

II. Các yêu cầu của đề thi nhằm đáp ứng CLO 

 

Ký 

hiệu 

CLO 

Nội dung CLO  
Hình thức 

đánh giá 

Trọng số CLO 

trong thành phần 

đánh giá (%) 

Câu 

hỏi thi 

số 

Điểm 

số 

tối đa 

Lấy dữ 

liệu đo 

lường 

mức đạt 

PLO/PI 

(1) (2) (3) (4) (5) (6) (7) 

CLO 1 

Áp dụng được 

những kiến thức về 

ngữ nghĩa của từ, 

câu và phát ngôn 

vào phân tích và 

hiểu được những 

ẩn ý và những suy 

luận của ngôn ngữ 

Trắc 

nghiệm + 

Tự luận 

45% 

Phần 

Trắc 

nghiệm 

Section 

2 

Phần tự 

luận 

Section 

1 + 3 

1.5đ 

 

 

3đ 

PI 3.1 

CLO 2 

Phân biệt được các 

loại nghĩa của từ, 

câu và phát ngôn 

trong từng tình 

huống giao tiếp cụ 

thể 

Tự luận 15% 

Phần 

trắc 

nghiệm:  

Section 

1 

1.5 đ PI 3.1 

CLO 3 

Vận dụng kiến thức 

về ngữ nghĩa học 

và ngữ dụng học 

vào phân tích các 

tình huống giao 

tiếp để sử dụng 

câu, từ, phát ngôn 

phù hợp và hiệu 

quả 

Tự luận 40% 

Phần tự 

luận: 

Section 

2 + 4 

 

 

4 đ 

 

 

PI 6.1 
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III. Nội dung câu hỏi thi 

 

PHẦN TRẮC NGHIỆM (3 marks) 

SECTION 1 (1.5 marks – 10 sentences) 

Identify each of the following sentences as analytic, synthetic, or contradictory. (0.15 each) 

The sun rises in the east. This is a(n) ______. 

A. synthetic sentence 

B. analytic sentence 

C. contradictory sentence 

ANSWER: A 

Tim’s mother is a female. This is a(n) ______. 

A. analytic sentence 

B. synthetic sentence 

C. contradictory sentence 

ANSWER: A 

My computer is a tree. This is a(n) ______. 

A. contradictory sentence 

B. synthetic sentence 

C. analytic sentence 

ANSWER: A 

Some people love to travel. This is a(n) ______. 

A. synthetic sentence 

B. analytic sentence 

C. contradictory sentence 

ANSWER: A 

All birds are reptiles. This is a(n) ______. 

A. contradictory sentence 

B. synthetic sentence 

C. analytic sentence 
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ANSWER: A 

A square has four sides. This is a(n) ______. 

A. analytic sentence 

B. synthetic sentence 

C. contradictory sentence 

ANSWER: A 

My friend is taller than a giraffe. This is a(n) ______. 

A. synthetic sentence 

B. analytic sentence 

C. contradictory sentence 

ANSWER: A 

A doctor is a person who heals others. This is a(n) ______. 

A. analytic sentence 

B. synthetic sentence 

C. contradictory sentence 

ANSWER: A 

Some cats are reptiles. This is a(n) ______. 

A. contradictory sentence 

B. synthetic sentence 

C. analytic sentence 

ANSWER: A 

If it rains, it rains. This is a(n) ______. 

A. analytic sentence 

B. synthetic sentence 

C. contradictory sentence 

ANSWER: A 
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SECTION 2 (1.5 marks; 10 utterances) 

What kind of speech act is performed by making the following utterances? (0.15 each) 

“I apologize for the mistake in the report.” 

A. Expressive 

B. Commissive 

C. Directive 

D. Declarative 

E. Rogative 

F. Representative 

ANSWER: A 

“The book is on the table.” 

A. Representative 

B. Declarative 

C. Expressive 

D. Directive 

E. Rogative 

F. Commissive 

ANSWER: A 

“I hereby pronounce you guilty.” 

A. Declarative 

B. Commissive 

C. Expressive 

D. Directive 

E. Rogative 

F. Representative 

ANSWER: A 

“Please hand me the document.” 

A. Directive 
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B. Expressive 

C. Declarative 

D. Commissive 

E. Rogative 

F. Representative 

ANSWER: A 

“What’s the weather like today?” 

A. Rogative 

B. Expressive 

C. Declarative 

D. Directive 

E. Commissive 

F. Representative 

ANSWER: A 

“I feel great after the morning run.” 

A. Expressive 

B. Commissive 

C. Directive 

D. Declarative 

E. Rogative 

F. Representative 

ANSWER: A 

“You must complete the assignment by 5 PM.” 

A. Directive 

B. Expressive 

C. Declarative 

D. Commissive 

E. Rogative 
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F. Representative 

ANSWER: A 

“I will help you with your project.” 

A. Commissive 

B. Expressive 

C. Directive 

D. Declarative 

E. Rogative 

F. Representative 

ANSWER: A 

“Is it true that you’re leaving tomorrow?” 

A. Rogative 

B. Expressive 

C. Declarative 

D. Directive 

E. Commissive 

F. Representative 

ANSWER: A 

“I hereby declare the festival open.” 

A. Declarative 

B. Expressive 

C. Directive 

D. Commissive 

E. Rogative 

F. Representative 

ANSWER: A 
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PHẦN TỰ LUẬN (7 điểm) 

SECTION 1 (1.5 marks) 

What is implied in the following utterances? (1.5 marks – 0.3 each) 

Question 1:  

A: Did you submit the application? 

B: I haven’t had time yet. 

What may B’s response implicate? 

Question 2:  

A: Would you like some cake? 

B: I’m trying to cut back on sugar. 

What may B’s response implicate? 

Question 3:  

A: Did you buy the laptop? 

B: It was way out of my budget. 

What may B’s response implicate? 

Question 4:  

A: Are you attending the event tonight? 

B: It’s too far from where I live. 

What may B’s response implicate? 

Question 5:  

A: Did they like the restaurant? 

B: They left after the appetizer. 

What may B’s response implicate? 

SECTION 2 (1.5 marks) 

Complete each of the following sentences in such a way that is an ENTAILMENT of the 

sentence printed before (→ is used to show one-way entailment and ↔ to show two-way 

entailment). (1.5 marks – 0.3 each) 

Question 1: All roses are red. 

→ Some roses ______________________. 
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Question 2: Leo has five dogs. 

↔ Leo ______________________. 

Question 3: Some people are studying. 

↔ Not all ______________________. 

Question 4: Leo gave me a pen. 

↔ I ______________________. 

Question 5: The sun sets in the west. 

→ The sun ______________________. 

 

SECTION 3 (1.5 marks) 

Identify the PRESUPPOSITION(s) in each of the following utterances. (1.5 marks, 0.3 each) 

Question 1: 

“Why don’t penguins live in the jungle?” 

Question 2: 

“Imagine you were my neighbor and lived next door.” 

Question 3: 

“Someone parked in my spot this morning.” 

Question 4: 

“Where did you find that book?” 

Question 5: 

“You’ve forgotten your keys again.” 

SECTION 4: Interpret the meanings of the following sentences and state what 

kind of figure of speech was used in each of them. (2.5 marks; 0.5 each) 

1. He has a heart of stone. 

2. The stars danced in the sky. 

3. She is as busy as a bee. 

4. This suitcase weighs a ton. 

5. The mountains stood tall like giants. 
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ĐÁP ÁN PHẦN TỰ LUẬN VÀ THANG ĐIỂM 

 

Phần câu hỏi Nội dung đáp án Thang điểm Ghi chú 

I. Trắc nghiệm 3.0  

SECTION 1 Answer A 1.5 0.15 each 

SECTION 2 Answer A 1.5 0.15 each 

II. Tự luận 7.0  

SECTION 1  

What is implied 

in the following 

utterances? 

Đáp án câu 1: B implies that B 

hasn’t submitted the application. 

Đáp án câu 2: B implies B 

would rather not eat cake. 

Đáp án câu 3: B implies that B 

did not buy the laptop. 

Đáp án câu 4: B implies that B is 

not attending the event. 

Đáp án câu 5: B implies that 

They did not like the restaurant. 

1.5 0.3 each 

SECTION 2 

Complete each 

of the following 

sentences in such 

a way that is an 

entailment of the 

sentence printed 

before (→ is 

used to show 

one-way 

entailment and 

↔ to show two-

way entailment). 

Đáp án câu 1: → Some roses are 

red. 

Đáp án câu 2: ↔ Leo owns five 

dogs. 

Đáp án câu 3: ↔ Not all people 

are studying. 

Đáp án câu 4: ↔ I received a 

pen from Leo. 

Đáp án câu 5: → The sun does 

not set in the east. 

 

1.5 0.3 each 

SECTION 3:  

Identify the 

presupposition(s) 

in each of the 

following 

utterances. 

Đáp án Câu 1: The utterance 

presupposes that penguins do 

not live in the jungle. 

Đáp án Câu 2: The utterance 

presupposes that you are not 

currently their neighbor. 

Đáp án Câu 3: The utterance 

presupposes that the speaker has 

a parking spot and someone used 

it. 

1.5 0.3 each 
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Đáp án Câu 4: The utterance 

presupposes that you found a 

book. 

Đáp án Câu 5: The utterance 

presupposes that you forgot your 

keys before. 

SECTION 4: 

Interpret the 

meanings of the 

following 

sentences and 

state what kind 

of figure of 

speech was used 

in each of them 

1. Figure of Speech: Metaphor 

Interpretation: He is very cold or 

unfeeling. 
 

2. Figure of Speech: 

Personification 

Interpretation: The stars are 

described as if they were moving 

gracefully, like dancers. 

 

3. Figure of Speech: Simile 

Interpretation: She is very 

hardworking and constantly 

active, similar to the way bees 

are known for being industrious. 

 

4. Figure of Speech: Hyperbole 

Interpretation: The suitcase is 

very heavy (an exaggeration for 

effect). 

 

5. Figure of Speech: Simile 

Interpretation: The height and 

strength of the mountains are 

impressive with their immense 

size and dominance. 

2.5 0.5 each 

Viết đúng 

biện pháp tu 

từ: 0.2đ 

Giải thích 

nghĩa của 

câu: 0.3đ 

 Điểm tổng 10.0  
 

  TP. Hồ Chí Minh, ngày 24 tháng 09 năm 2024 

 

 

Trưởng bộ môn  Giảng viên ra đề 

 

 

   

 

 

Nguyễn Hòa Mai Phương                                          Đinh Huỳnh Mai Tú 

 

 

  


